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		���E�8�=�>�:�0�:�B�C�A - Echinocactus

		

		gradinar, �?�5�B�J�: 18 �N�;�8 2008 - 11:00:47

		

		

         

� �>�4�0 �5 �>�?�8�A�0�= �7�0 �?�J�@�2�8 �?�J�B �?�@�5�7 1827 �3. �>�B Heinrich Friederich Link �8 Friederich

Christoph Otto. ���0�8�<�5�=�>�2�0�=�8�5�B�> �?�@�>�8�7�E�>�6�4�0 �>�B �;�0�B�8�=�A�:�0�B�0 �4�C�<�0

"echinatus" - �1�>�4�;�8�2 �8 �8�4�2�0 �>�B �2�@�5�<�5�B�>, �:�>�3�0�B�> �?�>�2�5�G�5�B�> �>�1�;�8

�:�0�:�B�C�A�8 �A�0 �A�5 �>�B�=�0�A�O�;�8 �:�J�< �@�>�4�0 ���E�8�=�>�:�0�:�B�C�A, �0 �B�5�7�8 �A

�F�8�;�8�=�4�@�8�G�=�0 �D�>�@�<�0 �=�0 �A�B�J�1�;�0�B�0 - �:�J�< �@�>�4�0 �&�5�@�5�C�A �8�;�8

���E�8�=�>�A�5�@�5�C�A.

� �>�4�0 �2�:�;�N�G�2�0 �>�:�>�;�> �4�5�A�5�B �2�8�4�0, �8�7�<�5�6�4�C �=�0�9-�3�>�;�5�<�8�B�5 �>�B

�8�7�2�5�A�B�=�8�B�5 �>�1�;�8 �8 �F�8�;�8�=�4�@�8�G�=�8 �:�0�:�B�C�A�8. ���;�8�7�:�8

�@�>�4�A�B�2�5�=�8�F�8 �A�0 �A �$�5�@�>�:�0�:�B�C�A�8�B�5. �!�B�J�1�;�0�B�0 �A�0 �O�@�:�> �7�5�;�5�=�8,

�3�;�0�4�:�8 �8 �1�;�O�A�:�0�2�8, �2 �?�@�8�@�>�4�0�B�0 �4�>�A�B�8�3�0�B 3 �<�5�B�@�0 �=�0 �2�8�A�>�G�8�=�0

�8 �4�> 1,5 �<�5�B�@�0 �2 �4�8�0�<�5�B�J�@. � �5�1�@�0�B�0 �A�0 �<�=�>�3�> �=�0 �1�@�>�9, �?�@�0�2�8,

�A�8�;�=�> �2�J�>�@�J�6�5�=�8. ���>�;�5�<�8�B�5 �0�@�5�>�;�8 �=�0 �2�J�@�E�0 �?�>�G�B�8 �A�5

�A�;�8�2�0�B �?�> �<�5�6�4�C �A�8 �8 �>�1�@�0�7�C�2�0�B �?�;�J�B�=�>, �2�J�;�=�8�A�B�>

�?�>�:�@�8�B�8�5. ���>�4�;�8�B�5 �=�5 �A�0 �<�=�>�3�>�1�@�>�9�=�8, �F�2�5�B�0 �8�< �5

�:�5�E�;�8�1�0�@�5�=�>-�6�J�;�B, �4�5�1�5�;�8 �A�0, �A �4�J�;�6�8�=�0 2-7 �A�<., �2

�1�>�;�H�8�=�A�B�2�>�B�> �>�B �2�8�4�>�2�5�B�5 �A�0 �<�=�>�3�> �7�4�@�0�2�8 �8 �B�2�J�@�4�8, �A

�H�8�;�>�2�8�4�=�0 �D�>�@�<�0. �� �?�@�8�@�>�4�0�B�0 �F�J�D�B�O�B �A�0�<�> �A�B�0�@�8�B�5

�@�0�A�B�5�=�8�O, �2 �4�>�<�0�H�=�8 �C�A�;�>�2�8�O �?�> �?�@�8�=�F�8�? ���E�8�=�>�:�0�:�B�C�A�8�B�5

�=�5 �7�0�F�J�D�B�O�2�0�B. �&�2�5�B�>�2�5�B�5 �A�0 �6�J�;�B�8 �8�;�8 �B�J�<�=�> �@�>�7�>�2�8, �A

�D�>�@�<�0�B�0 �=�0 �:�>�@�>�=�0, �=�5 �3�>�;�5�<�8, �A �4�8�0�<�5�B�J�@ 2-5 �A�<., �8�<�0�B

�B�5�A�=�8, �:�>�?�8�5�2�8�4�=�8 �2�5�=�G�5�;�8�A�B�G�5�B�0, �@�0�7�?�>�;�0�3�0�B �A�5 �2 �:�@�J�3

�>�:�>�;�> �2�J�@�E�0 �=�0 �A�B�J�1�;�>�B�>. �� �?�@�8�@�>�4�0�B�0 �A�5 �>�?�@�0�H�2�0�B �>�B

�=�0�A�5�:�>�<�8 �8�;�8 �<�0�;�:�8 �?�B�8�F�8. �&�2�5�B�=�0�B�0 �B�@�J�1�8�G�:�0 �5 �:�J�A�0,

�@�5�A�=�8�G�5�A�B�0, �?�>�:�@�8�B�0 �A �;�N�A�?�8. ���;�>�4�>�2�5�B�5 �A�0 �A�C�E�8,

�@�0�7�B�@�>�H�0�2�0�B �A�5.

���>�?�C�;�O�@�=�8 �2�8�4�>�2�5 �A�0: ��. viereckii, ��. amoenus, ��. enneacanthus, ��. acifer, ��. engelmanii.

		

���0�:�B�C�A�8�B�5 �>�B �B�>�7�8 �@�>�4 �A�0 �@�0�7�?�@�>�A�B�@�0�=�5�=�8 �2 �N�3�>�7�0�?�0�4�=�8�B�5

�G�0�A�B�8 �=�0 �!���) �8 �A�5�2�5�@�=�8�B�5 �G�0�A�B�8 �=�0 ���5�:�A�8�:�>. � �0�A�B�0�B �=�0

�3�;�8�=�5�A�B�>-�2�0�@�>�2�8�B�0 �?�>�G�2�0, �3�;�0�2�=�> �2 �?�C�A�B�8�=�=�8 �<�5�A�B�=�>�A�B�8, �2

�?�>�4�=�>�6�8�5�B�> �8 �?�> �A�:�;�>�=�>�2�5�B�5 �=�0 �A�:�0�;�8, �2 �?�;�0�=�8�=�A�:�8

�:�;�8�A�C�@�8, �:�J�4�5�B�> �?�>�G�B�8 �=�O�<�0 �4�@�C�3�0 �@�0�A�B�8�B�5�;�=�>�A�B. ��

�1�;�8�7�:�>�B�> �<�8�=�0�;�> �1�5�H�5 �=�0�?�J�;�=�> �2�J�7�<�>�6�=�> �4�0 �A�5 �A�@�5�I�=�0�B

�3�>�;�5�<�8 �3�@�C�?�8 �>�B ���E�8�=�>�:�0�:�B�C�A�8 �=�0 �2�J�7�@�0�A�B �>�B 200 �4�> 400

�3�>�4�8�=�8, �2 �4�=�5�H�=�> �2�@�5�<�5 �5 �B�@�C�4�=�> �4�0 �A�5 �>�B�:�@�8�O�B �4�>�@�8



�����&�����������������/ �&�����"�/
�!�B�@�0�=�8�F�0 2/6

�5�4�8�=�8�G�=�8 �5�:�7�5�<�?�;�O�@�8 �=�0 �B�0�:�0�2�0 �2�J�7�@�0�A�B. �!�0�<�> �2 ���; ���0�A�>

(�"�5�:�A�0�A) �?�@�8 �?�@�>�2�5�4�5�=�8 �A�B�@�>�8�B�5�;�=�8 �@�0�1�>�B�8 �A�0 �C�=�8�I�>�6�5�=�8

�?�>�2�5�G�5 �>�B 500 �>�B �B�5�7�8 �F�5�=�=�8 �@�0�A�B�5�=�8�O.

���@�8 �>�B�3�;�5�6�4�0�=�5�B�> �=�0 ���E�8�=�>�:�0�:�B�C�A�8�B�5, �5�4�8�=�A�B�2�5�=�8�O

�?�@�>�1�;�5�< �A �:�>�9�B�> �<�>�6�5 �4�0 �A�5 �A�1�;�J�A�:�0�B�5 �5 �>�A�8�3�C�@�O�2�0�=�5�B�>

�=�0 �<�O�A�B�> �7�0 �2�J�7�@�0�A�B�=�8�B�5 �@�0�A�B�5�=�8�O. ���@�8 �8�=�B�5�=�7�8�2�=�0

�A�;�J�=�G�5�2�0 �A�2�5�B�;�8�=�0, �?�>�A�B�>�O�=�5�= �?�@�8�B�>�: �=�0 �A�2�5�6 �2�J�7�4�C�E �8

�C�<�5�@�5�=�> �?�>�;�8�2�0�=�5 �2 �?�5�@�8�>�4�0 �=�0 �@�0�A�B�5�6, ���E�8�=�>�:�0�:�B�C�A�8�B�5

�@�0�A�B�0�B �A�@�0�2�=�8�B�5�;�=�> �1�J�@�7�>, �=�> �4�0 �A�5 �4�>�G�0�:�0 �4�0 �F�J�D�=�0�B �=�5 �5

�;�5�:�0 �7�0�4�0�G�0. ���>�2�5�G�5�B�> �2�8�4�>�2�5 �A�5 �@�0�7�2�8�2�0�B �4�>�1�@�5 �2 �A�C�1�A�B�@�0�B

�A�J�A�B�>�O�I �A�5 �>�B 40% �@�0�2�=�8 �G�0�A�B�8 �;�8�A�B�>�2�:�0 �8 �G�8�<�>�2�:�0, 30% �A�<�5�A �>�B

�5�4�@�>�7�J�@�=�5�B �?�O�A�J�: �8 �G�0�:�J�;, �4�> 10% �2�0�@�>�2�8�:�>�2�8 �4�>�1�0�2�:�8,

�>�A�B�0�=�0�;�>�B�> �4�>�1�0�2�J�G�=�8 �<�0�B�5�@�8�0�;�8. ���0 �B�0�:�0 �=�0�@�5�G�5�=�8�B�5

"�<�0�;�:�8" ���E�8�=�>�:�0�:�B�C�A�8 (E. horizonthalonius, E. parryi, E. xeranthemoides), �:�J�< �A�C�1�A�B�@�0�B�0

�A�5 �4�>�1�0�2�O�B �2 �4�> 20% �>�B �>�1�5�<�0 �G�0�:�J�;�5�A�B�8 �A�J�A�B�0�2�:�8 �8 �A�5

�=�0�<�0�;�O�2�0 �:�>�;�8�G�5�A�B�2�>�B�> �?�>�;�8�2�:�8. ���@�5�7 �7�8�<�0�B�0 �2�J�7�@�0�A�B�=�8�B�5

�@�0�A�B�5�=�8�O �A�5 �4�J�@�6�0�B �A�C�E�8 �?�@�8 �B�5�<�?�5�@�0�B�C�@�0 6-10 �3�@�0�4�C�A�0.

���>-�4�5�;�8�:�0�B�=�8�B�5 �2�8�4�>�2�5 �?�@�5�4�?�>�G�8�B�0�B �7�8�<�=�8 �B�5�<�?�5�@�0�B�C�@�8 8-10

�3�@�0�4�C�A�0.

���E�8�=�>�:�0�:�B�C�A�8�B�5 �A�5 �@�0�7�<�=�>�6�0�2�0�B �G�@�5�7 �A�5�<�5�=�0. � �0�A�B�5�6�0 �=�0

�A�5�<�5�=�0�G�5�B�0�B�0 �<�>�6�5 �4�0 �C�A�:�>�@�8, �:�0�B�> �A�5 �=�0�?�@�0�2�O�B �?�@�8�A�0�4�:�8, �0

�A�;�5�4 �B�>�2�0 �>�B�=�>�2�> �A�5 �2�:�>�@�5�=�O�B �?�>�4�@�0�A�=�0�;�8�B�5 �5�:�7�5�<�?�;�O�@�8.

���A�B�0�2�0�I�8�B�5 �>�B �?�@�8�A�0�4�:�0�B�0 "�?�J�=�G�5�B�0", �<�>�3�0�B �4�0 �?�>�A�;�C�6�0�B �7�0

�2�5�3�5�B�0�B�8�2�=�> �@�0�7�<�=�>�6�0�2�0�=�5, �B�J�9 �:�0�B�> �>�E�>�B�=�> �>�1�@�0�7�C�2�0�B

�8�7�4�J�=�:�8.

���E�8�=�>�:�0�:�B�C�A�8�B�5 �A�0 �8�7�:�;�N�G�8�B�5�;�=�> �?�>�?�C�;�O�@�=�8 �8 �H�8�@�>�:�>

�@�0�7�?�@�>�A�B�@�0�=�5�=�8 �2 �:�>�;�5�:�F�8�8�B�5.

������������ *Echinocactus grusonii

���8�=�8�<�0�;�=�0 �B�5�<�?�5�@�0�B�C�@�0: �7�0 �:�@�0�B�:�8 �?�5�@�8�>�4�8 �>�B �2�@�5�<�5

�8�7�4�J�@�6�0�B �=�0 �B�5�<�?�5�@�0�B�C�@�8 �4�> -10�°C, �A�@�5�4�=�0 �7�8�<�=�0

�B�5�<�?�5�@�0�B�C�@�0 12�°C.

� �0�7�?�>�;�>�6�5�=�8�5: �?�J�;�=�> �A�;�J�=�F�5

���@�>�8�7�E�>�4: ���5�:�A�8�:�> (�!�0�= ���C�8�A ���>�B�>�A�8, ���4�0�;�3�>). ���5�A�B�=�>�B�>

�=�0�7�2�0�=�8�5 �=�0 �:�0�:�B�C�A�0 �5 "�7�;�0�B�=�0 �B�>�?�:�0".

���?�8�A�0�=�8�5: �!�B�J�1�;�0�B�0 �A�0 �A�2�5�B�;�> �7�5�;�5�=�8, �>�1�;�8, �A �2�J�7�@�0�A�B�B�0

�;�5�:�> �A�5 �8�7�4�J�;�6�0�2�0�B, �=�8�:�>�3�0 �=�5 �>�1�@�0�7�C�2�0�B �A�B�@�0�=�8�G�=�8

�8�7�4�J�=�:�8. �!�B�0�@�8�B�5 200-300 �3�>�4�8�H�=�8 �5�:�7�5�<�?�;�O�@�8 �=�0�4�2�8�H�0�2�0�B 1

�<�5�B�J�@ �=�0 �2�8�A�>�G�8�=�0 �8 70 �A�<. �2 �4�8�0�<�5�B�J�@. � �5�1�@�0�B�0 �A�0 �>�:�>�;�> 30,

�>�A�B�@�8, �2�8�A�>�:�8, �?�@�0�2�8, �2 �@�0�=�=�0 �2�J�7�@�0�A�B �@�0�7�4�5�;�5�=�8 �>�B

�@�5�4�C�2�0�I�8 �A�5 �2�4�;�J�1�=�0�B�8�=�8 �8 �8�7�?�J�:�=�0�;�>�A�B�8. ���@�5�>�;�8�B�5 �2

�?�>�A�>�:�0 �:�J�< �2�J�@�E�0 �A�5 �@�0�7�?�>�;�0�3�0�B �2�A�5 �?�>-�?�;�J�B�=�> �8

�>�1�@�0�7�C�2�0�B �3�J�A�B�> �?�>�:�@�8�B�8�5. � �0�4�8�0�;�=�8�B�5 �1�>�4�;�8 �A�0 8-10 �=�0 �1�@�>�9,

�A �4�J�;�6�8�=�0 �4�> 3 �A�<. �&�5�=�B�@�0�;�=�8�B�5 �1�>�4�;�8 �A�0 �@�0�7�?�>�;�>�6�5�=�8

�:�@�J�A�B�>�>�1�@�0�7�=�> �8 �A�0 �4�J�;�3�8 5-7 �A�<. ���A�8�G�:�8 �1�>�4�;�8�G�:�8 �A�5

�>�B�;�8�G�0�2�0�B �A �>�A�>�1�5�=�0 �4�5�:�>�@�0�B�8�2�=�>�A�B, �F�2�5�B�0 �8�< �5

�?�@�>�7�@�0�G�=�> �6�J�;�B, �8 �A�0 �8�7�:�;�N�G�8�B�5�;�=�> �7�4�@�0�2�8 �8 �B�2�J�@�4�8, �;�5�:�>

�8�7�2�8�B�8 �:�J�< �>�A�=�>�2�0�B�0 �=�0 �A�B�J�1�;�>�B�>. ���0�F�J�D�B�O�2�0 �=�0 �2�J�7�@�0�A�B 30-40

�3�>�4�8�=�8, �?�5�@�8�>�4�0 �=�0 �F�J�D�B�5�6 �5 �>�B ���0�@�B �4�> �:�@�0�O �=�0 ���?�@�8�;.
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�&�2�5�B�>�2�5�B�5 �A�0 �6�J�;�B�8, �4�J�;�3�8 �8 �A �4�8�0�<�5�B�J�@ �>�:�>�;�> 5 �A�<., �?�>�O�2�O�2�0�B

�A�5 �A�0�<�> �=�0 �A�B�0�@�8�B�5 �@�0�A�B�5�=�8�O. ���;�>�4�>�2�5�B�5 �A�0 �4�J�;�3�8 �4�> 2 �A�<.,

�?�>�:�@�8�B�8 �A �1�5�;�8, �2�J�;�=�8�A�B�8 �2�;�0�A�8�=�:�8.

���>�4�2�8�4:

- Echinocactus grusonii fa. subinermis - �A�B�J�1�;�>�B�> �<�C �5 �A �>�1�;�0 �D�>�@�<�0, �4�>�A�B�8�3�0 �=�0

�2�8�A�>�G�8�=�0 1,20 �<., �0 �2 �4�8�0�<�5�B�J�@ 1 �<. ���?�8�4�5�@�<�8�A�0 �5 �A�2�5�B�;�> �7�5�;�5�=.

���J�@�E�0 �5 �2�J�;�=�8�A�B. �� �A�@�0�2�=�5�=�8�5 �A �4�@�C�3�8�B�5 �2�8�4�>�2�5 �>�B �@�>�4�0,

�?�>�G�B�8 �=�O�<�0 �1�>�4�;�8, �B�5 �@�O�4�:�> �4�>�A�B�8�3�0�B �4�> 4-5 �<�<. �=�0 �4�J�;�6�8�=�0 �8

�A�0 �6�J�;�B�8 �=�0 �F�2�O�B. �&�2�5�B�>�2�5�B�5 �A�0 �<�0�;�:�8, �=�5�7�=�0�G�8�B�5�;�=�8, �6�J�;�B�8

�2�J�2 �2�J�B�@�5�H�=�>�A�B�B�0 �8 �:�0�D�O�2�8 �>�B �2�J�=.

*Echinocactus horizonthalonius

���8�=�8�<�0�;�=�0 �B�5�<�?�5�@�0�B�C�@�0: �7�0 �:�@�0�B�:�8 �?�5�@�8�>�4�8 �>�B �2�@�5�<�5

�8�7�4�J�@�6�0�B �=�0 �B�5�<�?�5�@�0�B�C�@�8 �4�> -10�°C, �A�@�5�4�=�0 �7�8�<�=�0

�B�5�<�?�5�@�0�B�C�@�0 12�°C.

� �0�7�?�>�;�>�6�5�=�8�5: �?�J�;�=�> �A�;�J�=�F�5

���@�>�8�7�E�>�4: �>�B �N�3�>�7�0�?�0�4�=�8�B�5 �G�0�A�B�8 �=�0 �!���) (Arizona, New Mexico), �4�>

�A�5�2�5�@�=�> ���5�:�A�8�:�> (Nuevo Leon, San Luis Potosi). �"�>�7�8 �2�8�4 ���E�8�=�>�:�0�:�B�C�A

�?�@�>�8�7�E�>�6�4�0 �>�B �@�5�3�8�>�=�8, �2 �:�>�8�B�> �?�>�;�C�G�0�2�0 �A�0�<�> 20-30 �A�<.

�2�>�4�0 �=�0 �3�>�4�8�=�0, �A�8�;�=�> �A�;�J�=�G�5�2�> �>�3�@�O�2�0�=�5 �8 �6�5�3�0. �"�0�:�0 �G�5

�8�<�0 �=�C�6�4�0 �>�B �<�=�>�3�> �<�0�;�:�> �2�>�4�0 �8 �<�=�>�3�> �A�;�J�=�F�5. ���>�G�2�0�B�0

�2�J�@�E�C �:�>�O�B�> �@�0�A�B�5 �5 �1�>�3�0�B�0 �=�0 �2�0�@�>�2�8�:, �B�0�:�0 �G�5 �5 �4�>�1�@�5 �4�0

�A�5 �4�>�1�0�2�8 �>�B �B�>�7�8 �<�8�=�5�@�0�; �2 �A�C�1�A�B�@�0�B�0 �7�0 �>�B�3�;�5�6�4�0�=�5.

���?�8�A�0�=�8�5: Echinocactus horizonthalonius �5 �=�0�9-�<�0�;�:�8�O �>�B ���E�8�=�>�:�0�:�B�C�A�8�B�5 �8

�5�4�8�=�A�B�2�5�=�8�O, �:�>�9�B�> �I�5 �7�0�F�J�D�B�8 �?�@�8 �>�B�3�;�5�6�4�0�=�5 �2 �A�0�:�A�8�O.

�!�B�J�1�;�0�B�0 �A�0 �A�8�2�>-�A�8�=�8, �>�1�;�8 �4�> �;�5�:�> �8�7�4�J�;�6�5�=�8, �4�>�A�B�8�3�0�B �=�0

�2�8�A�>�G�8�=�0 �4�> 30 �A�<., �2 �4�8�0�<�5�B�J�@ �>�:�>�;�> 20�A�<., �1�5�7 �A�B�@�0�=�8�G�=�8

�8�7�4�J�=�:�8. � �5�1�@�0�B�0, �>�:�>�;�> 10 �=�0 �1�@�>�9 (�>�1�8�:�=�>�2�5�=�> 8), �A�0

�7�0�:�@�J�3�;�5�=�8, �@�0�7�?�>�;�>�6�5�=�8 �A�?�8�@�0�;�>�2�8�4�=�>. ���@�5�>�;�8�B�5 �A�0

�:�@�J�3�;�8, �@�0�7�?�>�;�>�6�5�=�8 �=�0 �@�0�7�A�B�>�O�=�8�5 1-2 �A�<. �?�> �<�5�6�4�C �A�8.

�&�5�=�B�@�0�;�=�8�B�5 �1�>�4�;�8 �A�0 �>�B 3 �4�> 5 �1�@�>�9 (�A �4�5�1�5�;�8�=�0 2,5 �<�<.), �0

�@�0�4�8�0�;�=�8�B�5 �A�0 6-9 �=�0 �1�@�>�9, �?�@�8 �<�;�0�4�8�B�5 �@�0�A�B�5�=�8�O �A�0 �B�J�<�=�>

�G�5�@�2�5�=�8, �A �2�J�7�@�0�A�B�B�0 �A�B�0�2�0�B �:�5�E�;�8�1�0�@�5�=�8, �2 �>�A�=�>�2�0�B�0 �A�0

�?�>-�B�J�<�=�8, �B�2�J�@�4�8 �8 �8�7�2�8�B�8, �A �4�J�;�6�8�=�0 2-4 �A�<. �&�2�5�B�>�2�5�B�5

�?�>�=�8�:�2�0�B �=�0 �2�J�@�E�0 �8 �A�0 �@�>�7�>�2�8 �8�;�8 �G�5�@�2�5�=�8 �A �4�J�;�6�8�=�0 5-6 �A�<.

�8 �4�8�0�<�5�B�J�@ �4�> 6 �A�<. ���5�@�8�>�4�0 �=�0 �F�J�D�B�5�6 �?�@�>�4�J�;�6�0�2�0 �>�B ���0�@�B

�4�> �:�@�0�O �=�0 ���0�9. ���;�>�4�>�2�5�B�5 �A�0 �G�5�@�2�5�=�8, �?�@�>�4�J�;�3�>�2�0�B�8,

�?�>�;�C�A�C�E�8, �A�8�;�=�> �@�5�A�=�8�G�5�A�B�8 �A �4�J�;�6�8�=�0 �4�> 3 �A�<. �� �?�@�8�@�>�4�0�B�0

�C�7�@�O�2�0�B �?�@�5�7 ���0�9-�.�=�8. �!�5�<�5�=�0�B�0 �A�0 �3�>�;�5�<�8, �:�0�D�5�=�8�:�0�2�>

�G�5�@�=�8.

���>�4�2�8�4:

- Echinocactus horizonthalonius var. nicholii - �?�@�>�8�7�E�>�6�4�0 �>�B �N�6�=�8�B�5 �G�0�A�B�8 �=�0

���@�8�7�>�=�0 �8 Sonora (Sierra del Viejo), �8 �5 �7�0�A�B�@�0�H�5�= �2�8�4. ���1�8�:�=�>�2�5�=�> �8�<�0 8

�@�5�1�@�0, �F�5�=�B�@�0�;�=�8�B�5 �1�>�4�;�8 �A�0 3 �=�0 �1�@�>�9, �0 �@�0�4�8�0�;�=�8�B�5 8.

*Echinocactus parryi

���@�>�8�7�E�>�4: ���5�:�A�8�:�> - Chihuahua, �5�7�5�@�>�B�> Guzman, �5�=�4�5�<�8�G�5�= �2�8�4,

�7�0�A�B�@�0�H�5�= �>�B �8�7�G�5�7�2�0�=�5.

���?�8�A�0�=�8�5: � �0�A�B�5 �:�0�B�> �5�4�8�=�8�G�=�> �@�0�A�B�5�=�8�5, �A�B�J�1�;�0�B�0 �A�0 �>�1�;�8,

�2�8�A�>�:�8 �>�B 16 �4�> 25 �A�<. �8 �A �4�8�0�<�5�B�J�@ �>�B 21 �4�> 30 �A�<. ���J�@�E�0 �5
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�2�4�;�J�1�=�0�B, �?�>�:�@�8�B �A �1�5�;�8 �2�;�0�A�8�=�:�8. � �5�1�@�0�B�0 �A�0 �>�B 13 �4�> 21, �;�5�:�>

�7�0�:�@�J�3�;�5�=�8. ���@�5�>�;�8�B�5 �A�0 �A �4�8�0�<�5�B�J�@ 12 �<�<., �2 �G�0�A�B�B�0 �A�8 �>�B

�:�>�O�B�> �8�7�;�8�7�0�B �1�>�4�;�8�G�:�8�B�5, �4�>�A�B�8�3�0�B �4�> 1,5 �<�<., �2 �G�0�A�B�B�0 �>�B

�:�>�O�B�> �8�7�;�8�7�0�B �F�2�5�B�>�2�5�B�5 �8 �A�0 �?�>�:�@�8�B�8 �A �<�J�E. ���>�4�;�8�B�5 �A�0

�B�2�J�@�4�8, �7�4�@�0�2�8, �?�>�=�O�:�>�3�0 �A�?�;�5�A�=�0�B�8, �1�5�;�5�7�=�8�:�0�2�8 �=�0 �F�2�O�B.

� �0�4�8�0�;�=�8�B�5 �1�>�4�;�8 �A�0 �>�B 8 �>�B 11 �=�0 �1�@�>�9, �?�@�0�2�8 �8�;�8 �;�5�:�> �8�7�2�8�B�8,

�3�>�@�=�8�B�5 �A�0 �?�>-�B�J�=�:�8. �&�5�=�B�@�0�;�=�8�B�5 �1�>�4�;�8 �A�0 4, �3�>�;�5�<�8 �A

�4�J�;�6�8�=�0 �>�B 4 �4�> 10 �A�<., �;�5�:�> �7�0�>�1�;�5�=�8 �2 �>�A�=�>�2�0�B�0, �@�0�A�B�0�B

�?�@�0�2�8 �8�;�8 �;�5�:�> �8�7�2�8�B�8. �&�2�5�B�>�2�5�B�5 �A�0 �7�;�0�B�=�> �6�J�;�B�8. �&�2�5�B�=�0�B�0

�B�@�J�1�8�G�:�0 �5 �3�J�A�B�> �?�>�:�@�8�B�0 �A �2�;�0�A�8�=�:�8. ���;�>�4�>�2�5�B�5 �A�0

�?�@�>�4�J�;�3�>�2�0�B�8.

���B�3�;�5�6�4�0�=�5: ���0�:�B�C�A�0 �@�0�A�B�5 �8�7�:�;�N�G�8�B�5�;�=�> �1�0�2�=�> �8 �5 �4�>�A�B�0

�B�@�C�4�5�= �7�0 �>�B�3�;�5�6�4�0�=�5.

*Echinocactus polycephalus

���8�=�8�<�0�;�=�0 �B�5�<�?�5�@�0�B�C�@�0: �8�7�4�J�@�6�0 �=�0 �B�5�<�?�5�@�0�B�C�@�8 �4�> -12�°C,

�A�@�5�4�=�0 �7�8�<�=�0 �B�5�<�?�5�@�0�B�C�@�0 12�°C.

� �0�7�?�>�;�>�6�5�=�8�5: �?�J�;�=�> �A�;�J�=�F�5

���@�>�8�7�E�>�4: �!���) (Mohave �8 �?�C�A�B�8�=�O�B�0 Sonoran: Arizona, California, Nevada), ���5�:�A�8�:�>

(�A�5�2�5�@�>�7�0�?�0�4�=�0 Sonora), �=�0 �<�0�;�:�0 �=�0�4�<�>�@�A�:�0 �2�8�A�>�G�8�=�0. � �0�A�B�5

�?�> �8�7�:�;�N�G�8�B�5�;�=�> �1�5�7�2�>�4�=�8 �<�5�A�B�0, �2�J�@�E�C �:�0�<�5�=�8�A�B�8 �8

�?�5�A�J�G�;�8�2�8 �?�>�G�2�8.

���?�8�A�0�=�8�5: � �0�A�B�5 �2 �3�@�C�?�0, �=�O�:�>�9 �:�>�;�>�=�8�8 �<�>�3�0�B �4�0 �A�5

�A�J�A�B�>�O�B �>�B �?�>�2�5�G�5 �>�B 100 �:�0�:�B�C�A�0. �!�B�J�1�;�>�B�> �5 �A�D�5�@�8�G�=�> �8�;�8

�A�;�0�1�> �F�8�;�8�=�4�@�8�G�=�>, �2�8�A�>�:�> 30-60 �A�<., �A �4�8�0�<�5�B�J�@ 9-20 �A�<.

� �5�1�@�0�B�0 �A�0 12-18, �4�J�;�1�>�:�8 �>�B 0,8 �4�> 1,2 �<�<. ���@�5�>�;�8�B�5 �A�0 �3�>�;�5�<�8,

�A�8�2�> �1�5�;�5�7�=�8�:�0�2�8 �=�0 �F�2�O�B, �A �4�J�;�6�8�=�0 1 �A�<. �8 �H�8�@�>�:�8 �>�B 1 �4�> 3,5

�A�<. �&�5�=�B�@�0�;�=�8�B�5 �1�>�4�;�8 �A�0 4 �=�0 �1�@�>�9, �4�J�;�3�8 5-9 �A�<., �0

�@�0�4�8�0�;�=�8�B�5 �A�0 6-8 �=�0 �1�@�>�9 �A �4�J�;�6�8�=�0 2,5-5 �A�<., �F�2�5�B�0 �=�0 �1�>�4�;�8�B�5

�5 �:�0�D�O�2 �A �G�5�@�2�5�=�8 �8�2�8�G�:�8. �&�2�5�B�>�2�5�B�5 �A�0 �6�J�;�B�8, �4�J�;�3�8 5-6 �A�<.,

�?�5�@�8�>�4�0 �=�0 �F�J�D�B�5�6 �5 �$�5�2�@�C�0�@�8-���0�@�B. ���;�>�4�0 �5 �>�1�J�;, �A�C�E,

�?�>�:�@�8�B �A �2�;�0�A�8�=�:�8, �>�B�2�0�@�O �A�5 �>�B �>�A�=�>�2�0�B�0, �:�>�3�0�B�> �C�7�@�5�5.

�!�5�<�5�=�0�B�0 �A�0 �3�>�;�5�<�8 �8 �G�5�@�=�8 �=�0 �F�2�O�B.

���>�4�2�8�4:

- Echinocactus polycephalus ssp. xeranthemoides

*Echinocactus platyacanthus (�A�8�=�>�=�8�< Echinocactus ingens)

���8�=�8�<�0�;�=�0 �B�5�<�?�5�@�0�B�C�@�0: �8�7�4�J�@�6�0 �=�0 �B�5�<�?�5�@�0�B�C�@�8 �4�> -4�°C,

�A�@�5�4�=�0 �7�8�<�=�0 �B�5�<�?�5�@�0�B�C�@�0 12�°C.

� �0�7�?�>�;�>�6�5�=�8�5: �?�J�;�=�> �A�;�J�=�F�5

���@�>�8�7�E�>�4: �F�5�=�B�@�0�;�=�> ���5�:�A�8�:�>

���?�8�A�0�=�8�5 � �0�A�B�5 �5�4�8�=�8�G�=�>, �>�B �=�0�G�0�;�> �D�>�@�<�0�B�0 �<�C �5 �>�1�;�0, �A

�2�J�7�@�0�A�B�B�0 �A�B�0�2�0 �:�>�;�>�=�>�2�8�4�5�=, �4�>�A�B�8�3�0 �=�0 �4�J�;�6�8�=�0 �4�> 2 �<., �0

�=�0 �H�8�@�8�=�0 �4�> 1�<. ���?�8�4�5�@�<�8�A�0 �5 �A�2�5�B�;�> �7�5�;�5�=. ���J�@�E�0 �5 �A�8�;�=�>

�?�>�:�@�8�B �A �2�;�0�A�8�=�:�8, �>�B �=�5�3�> �@�0�7�F�J�D�2�0�B �?�J�?�:�8�B�5. � �0�4�8�0�;�=�8�B�5

�1�>�4�;�8 �A�0 �>�B 4 �4�> 8, �0 �F�5�=�B�@�0�;�=�8�B�5 �>�B 1 �4�> 4 �=�0 �1�@�>�9, �?�> �4�J�;�3�8.

�&�2�5�B�>�2�5�B�5 �A�0 �6�J�;�B�8.

���>�4�2�8�4:

- Echinocactus platyacanthus fa. grandis

���@�>�8�7�E�>�4: �F�5�=�B�@�0�;�=�> ���5�:�A�8�:�>
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���?�8�A�0�=�8�5: ���4�8�=�8�G�5�=, �3�>�;�O�< �:�0�:�B�C�A �A�J�A �F�8�;�8�=�4�@�8�G�=�>

�A�B�J�1�;�>, �2�8�A�>�:�> �4�> 1-2 �<�5�B�@�0 �8 �A �4�8�0�<�5�B�J�@ 60-100 �A�<., �F�2�5�B�0 �<�C �5

�B�J�<�=�> �7�5�;�5�=, �?�@�8 �<�;�0�4�8�B�5 �:�0�:�B�C�A�8 �A�5 �7�0�1�5�;�O�7�2�0�B �H�8�@�>�:�8

�E�>�@�8�7�>�=�B�0�;�=�8 �8�2�8�F�8. ���J�@�E�0 �<�C �5 �8�7�:�;�N�G�8�B�5�;�=�> �2�J�;�=�8�A�B.

� �5�1�@�0�B�0 �?�@�8 �<�;�0�4�8�B�5 �@�0�A�B�5�=�8�O �A�0 8, �H�8�@�>�:�8, �2�8�A�>�:�8 �8 �<�0�;�:�>

�8�;�8 �?�>�2�5�G�5 �2�J�;�=�>�>�1�@�0�7�=�8, �=�> �?�@�8 �2�J�7�@�0�A�B�=�8�B�5 �@�0�A�B�5�=�8�O

�A�0 �<�=�>�3�>�1�@�>�9�=�8 �8 �?�>-�A�:�>�@�> �B�J�=�:�8. ���@�5�>�;�8�B�5 �A�0

�@�0�7�4�0�;�5�G�5�=�8 �?�@�8 �<�;�0�4�8�B�5 �@�0�A�B�5�=�8�O �8 �?�>�G�B�8 �A�5 �A�;�8�2�0�B �?�@�8

�2�J�7�@�0�A�B�=�8�B�5 �F�J�D�B�O�I�8 �:�0�:�B�C�A�8. ���>�4�;�8�B�5 �A�0 �7�4�@�0�2�8, �B�2�J�@�4�8 �A

�2�8�4�8�<�8 �8�2�8�G�:�8 �?�> �B�O�E, �>�B�=�0�G�0�;�> �A�0 �6�J�;�B�5�=�8�:�0�2�8, �=�> �A�;�5�4
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�?�5�@�8�:�0�@�?�5�;�0 �A �3�J�A�B�0, �?�;�N�H�5�=�0 �>�1�2�8�2�:�0. �"�5�A�=�8�B�5, �B�2�J�@�4�8
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*Echinocactus texensis
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